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101[fRSMRHKRLERFTEH BB EITHSIKEE (LEkTiREET KETHER HE3) — BT ARIEOK [B7RE2R R5.7.12 R5.8.31 1,420,000 1,380,000 10| 2IEHIFRfl#& 1,274,000
BEIE &)
102|/EAERT R LL At NEKER R IE REHILHEETEL |KEIHE — & — BT RIFEOK [FH7URTLE R6.8.23| R5.1221] 26,420,000] 26,000,000 4| 2 HIFRfl#8 23,825,000
HA~1REE &)
103|RAZEMhEBFEIBICHESKEEBGELS EE R KEIH%:HR —fi% — BT ARIECOK (LRI = R5.8.30] R5.12.15 9,770,000[ 9,650,000 4| K HI R i #& 8,744,000
) TULTHRRE
E
104|FEEF X B MBFEBEREARTAEIC|LETFEFE |KEIHHR HE3) —fRERIEOK |BERKE R5.10.4 R6.3.15 6,090,000] 6,000,000 10| 2 {E HIFR ffi#& 5,458,000
HESKEEBEIEFHHEIR) &)
105| FENBRZAASER TS E5HGER L& [L kT B KR JKE %8 —fi% — BT ARIZEOK [B7RE2X R5.10.18 R6.3.15] 16,050,000 15,900,000 4| 2 IEHIRfE#& 14,477,000
IDIHEIKEEBETE &)
106|FE A X ALK ERBRIH(Z D) RXRMILHEATAS [KEIHKZR — & — B+ AT EOK (ILEIRZKER R5.10.18 R6.2.22| 16,620,000 16,550,000 4| 21K HIFR i #% 14,940,000
&) MR EER
07| AZBHRERRBIBITHESKEESBETIE (RETEKNE T/ [KEIHR B4 — BT ARIBOK [BBEKIKEE R5.10.13 R6.1.19 1,840,000 1,800,000 10 | £ 1K i BR {fi4% 1,650,000
'r'r &)
108 AR ILAAXRKR( LN TR RRZ M E(HE) T E(LEHARET L/ [KEIHZF —fg —fE T ARITEOK [BBEKIFHEE R5.10.27 R6.2.16] 16,340,000 16,000,000 4| A HIPR 4% 14,724,000
ITHESKEEBEETE L &)

I=

6/6




